光學作業 應物三甲 0932358 葉秉溢
Problem 7-07

In Young’s experiment, narrow double slits 0.2 mm apart diffract monochromatic light onto a screen 1.5 m away. The distance between the fifth minima on either side of zeroth-order maximum is measure to be 34.37 mm. Determine the wavelength of the light.

Sol: For dark fringe 
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Where m means that the m-th minimum of the screen, a is the double slits apart,Δy is the distance in the screen between the m-th minimum and zeroth maximum, S is the distance between the screen and slits. The fifth minimum means that m equal five, other factor has known from the problem.
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Where we plot the dark fringe with x-y coordinate that will be a hyperbola because when m is constant that means Δλ also be constant, so the differential distance of two waves passing are constant too that will yield a hyperbola.
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